CHEM 2300 Exam 2 Review Solution

1. Name/draw the following molecules
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2. Draw all stereoisomers for (2R,4S)-2,4-dimethylpentane and list if it is an enantiomer or

diastereomer
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3. State whether the molecules are diastereomer, enantiomer, or identical.
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4. Draw the major product(s) and the mechanism for the following reactions

4 Are the products enantiomers or
/ H diastereomers?
X H*, H,0 -

qu(“
*/"
————a ‘H
/I/ /Ii?: + /)f":‘l-l
"

oH
(7]






E l H20 L

5. Why do we want a strong nucleophile/base for Sy2 and E2 but don’t need that for Sy1
and E1 but we need a good leaving group for those?

Because in SNR  the leaving group leaves at tne Bame time as Nu, only attacking

on one 8ide. S| however  +ne leaving group leaves and e N‘i artacks,
) carbocation, siereschem 108
allowing i +o adtack. on either Bide.

; NK N o Q =
S ;““: — H\\m Snl o8r fk E— f(

© i Wc\nem

\\\\:

6. Why do primary carbons prefer Sy2 while tertiary carbons prefer Sx1? Use the
intermediate.
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7. Give the major product(s) for the following reactions and state whether it is SN1, SN2,
E1, or E2. a T
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8. Give a synthetic route for these reactions.
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9. Name the following ethers

PN

diethy) ether

10. Give the product(s) of the following reactions
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11. Draw a [24]crown-8
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